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T 9-UF A T 28 U & et e arfard €
There are in all 28 questions in this question paper. All questions
are compulsory.
et &g eiRa 3id 3776 wwa 3iftd €|
Marks alloted to the questions are mentioned against them.
T e B YA Uied a2l Ffod IR altore|
Read each question carefully and answer to the point.
e AT 1 SEAHeId UeH &1 $9 T & U @US & IR N IR fawew
i e €| I8 fowew s sRyRad § fafawl v W= 2 9 7 9@
ffeea ST v &
Question No. 1 is multiple choice question. Four options are given
in answer of each part of this question. Write correct option in your
answer book. Question No. 2 to 7 are definite answer type
questions.
T T 1 BT TP WUS U 3ip Pl &1 T I 2 q 7 a6 U 37h &b
TS & T T 8 W 17 I Al 37 & e €| WY I 18 W 25 9 AN
376 & W2 & YT T 26 I 28 G IR 376 B 7 &l
Each part of Question No. 1 carries one mark. Question No. 2 to 7
are of one mark each. Question No. 8 to 17 are of two marks
each. Question No. 18 to 25 are of three marks each. Question
No. 26 to 28 are of four marks each.
$9 U%-UF § 9HY R B8 [9dbed el & aUy Hiagd 5241 § 3iaRe [aeed
e foar mar 21 O wel § $aa v [Jhey &1 &) TR Aol
There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of
the given choices in such questions.
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(&) TaFem o frar 8 8- 1
Double fertilization occurs in -
() Sla@H (i) SFRBECH H
Algae Bryophytes
(iii) 3FTIASTST | (iv) 3Tgaarst |
Gymnosperms Angiosperms
(@) TR Raogm & I & QU B e g & 1

()

(9)

(%)

The number of chromosomes in the individual suffering from Turner's

syndrome is -

(i) 48 (i) 46 (i) 47 (iv) 45
R wgfy & sy |Fa &1 g deiG W a1 8? 1
According to Binomial system, what is the biological name of modern
human-
(i) Emrafgg~ iy PerTersfia
Homo-sapiens Panthera tigris
(i) B RaewT (iv) &= afafers
Homo-erectus Homo-habilis
yfcrstfaes o femfor g - 1
Antibiotics are produced by -
() foefeigR (i) WS gRT
Vitamins Protozoans
(iii) g&HSIal GRT (iv) <Al gRT
Microbes Chemicals
o § @ ol St T 872 - 1
Which is/are transgenic animal in the following -
(i) SR (i) T
Rabbit ' Cow
(i) ¥ (iv) 3RIP I
Sheep All of the above
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(T) ThesH T34 A FRa g &

Golden rice is enriched in -

() Fefme (i) OEHT-aRIEH
Vitamin ‘A’ a—-Carotene

(i) TR (iv) fodfes
Anthocyanine Keratine

(B) wRReie o § 77 @1 oo wR g 8-

The trophic level of human in an ecosystem is -

(i) SIH 9I0T R (i) e omo &R

First trophic level Second trophic level
(iii) AT IO TR (iv) ogYd 9Ieor R

Third trophic level Fourth trophic level

(37) ORI reut # ufdt wuraRe a2y &-

In desert plants, leaves modified into -

(i) a=# (i) PrIH
Stem Spines
OIRSIE: (iv) =i #
Fruits Roots

2. 7Y SISTOMET & Hasy IR W P F0T Pas &7
What is the name of inner most layer of microsporangium?

3. et Je offirn fow R & 3aRds @1 saexor &7
. Sickle cell anaemia is the example of which type of mutation?
4. IS Bt fbsy ol urel) sy &2
Where Darwin's Finches are found?
5. TS &I YT A a9 &7
What is the full form of AIDS?

6. Bt-fay fos=r Shamoy e g &7

By which bacterium Bt-toxin is produced.
7. G.v%.9. o gl v gor &2
What is the full form of C.F.C. gas?
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10.

11.

12.

13,

14.

yyoita e ¥ 31T gRT Senfea ol & g &1 M ferae| 2

Write the name of any two hormones produced by placenta in embryo
development.
IO TIT 3ATE H 3T<R W BifoTe | 2
Clarify the difference between Transcription and Translation.
TR 3 U @ e ellet G arey 1) o et Y IS e I ey Tte < et |
F, 3 F,8) 9 5w yoor & ter ot &1, |t aof sifsrare 2
A pure tall with red flower pea plant is crossed with a pure dwarf with white
flower pea plant. What type of plants will be produced in F, and F, generation,
explain with diagrammatic sketch?

3l / OR
T2 Freior aor @ &2 wHa # o Fafker @1 oo Sifse, e 9 @ik

What is sex determination? Mention the sex determination in human beings,

also draw liner diagram.

RpeiRT # veoted (IRTS) 3R 21 (ATed Fedi) & FHANT B AT FAT 72501 o5 a-al
Jurg faRae | 2
Mention two measures each, for prevention and control of alcohol and drugs

abuse among adolescents?

frfeRaa W wifére fewof fafae - 14 1=2
Write the short notes on the following -
(&) gRa i (@) Bt-HUE

Green revolution Bt-cotton

ST fftsca aar &2 ofeli feufimist & 4! &1 3aTeRvT & g FHEsd? 5
What is gene therapy? Explain with example of Adinosine deaminase deficiency?
U qTRad & @ S &Y s | 2
Explain food web in grassland ecosystem.

3Yyal / OR
a1g YguUT & A HRUT §aTsd|

Write major causes of air pollution.
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16.

17.

8.

1'9.

20.

ﬁa%ﬁwwé?ﬁaﬁﬁmmﬁwwa%ﬁﬁaﬁﬁfmﬁww%ﬁaﬁl 2

What is Biodiversity? Give the name of any two methods of Biodiversity
Conservation.

ferraust w dfaw 3wr %yt @1 3 B 2
Write the effects of global warming on Glaciers.

fos2t &) wR wifdre fEwofY frRgn- 1+1=2
Write short notes on any two of the following :

(B) @iiRes 3ufre

Plastic waste
(@) aiavor
Forestation
(1) 3l el
Bio-magnification

I & &1 & St siehfivest & S s a1 3eer R 3

Write any three applications of biotechnology in the area of Agriculture.
34T / OR
URSHaT ST T &2 RS sl @1 HEe T AR S|

What are transgenic animals? Give importance and example of transgenic animals.

ﬁﬁmﬁwﬁmﬁﬁuﬁa&ﬁwﬁgﬁmﬁm%aﬁﬁ?mmm@m
fRegoT o ST 3

How many types of ecological pyramids in an ecosystem? Illustrate them

diagrammatically too.
34T / OR
ﬁwﬁ%ma@mﬁ%mw%aﬁwaﬂmaﬁ%@l

Discuss the role of women and communities in protection and conservation of

forests.
ﬁ$waﬁmmmmv&wﬁaﬁaml 3

Draw a neat and labelled diagram of transverse section of ovary of woman.

341 / OR
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21.

22,

23.

24,

25.

26.

(®) 3g B (B Bed &7 WE D! 11

What is menstrual cycle? Clarify.

(W) AT YEBIY] B TRTT BT AT o F 15 | 1Y
Draw a labelled diagram of human sperm.
QIBIVIST U4 HUSSTH & U difoTe| 3

Describe the spermatogenesis and Oogenesis.

feiTT e o1 foodt el &2 afE v Mifthforss I atess N &t faame | gy &

TR o T At 3G Wrhr eI B g8 0 {5 TR 3 e e gRT THesd |
3

What does sex-linked character mean? If a haemophilic carrier woman marries
with a normal male, how this disease will develop in their future progeny? Explain
diagrammatically.

gTeT-amad RIgT= &7 3ot difoTe| 3
Mention Hardy-Weinberg Principle.

- Fr=feRaa it &1 Heror B g @2 1+1+1=3
How does the transmission of following diseases take place?
() vsd (@) #eaRar (m e
AIDS Malaria Pneumonia
¥ a e wiiest Freaor & smafes 7 fdfae 39aR @1 vt S 3

What is sewage? Describe the Primary and secondary sewage treatment.
AT {64 et 2?2 I8 fovem IPR &1 &rer &? T s & fafie sRe! &1 3o
DI 4
What is pollination? What are the kinds of pollination? Describe the different
agents of pollination process.

3Rdr / OR

Freifesa ot dvaet ATHifepe fora SR - 2+2=4

Draw only labelled diagram of the following -

(@) ORI ATt Bl gl B T2 L HNBIR BT IFHT BT

l.ongitudinal Section (L.S.) of Pistil showing path of Pollen tube growth
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(@) yRuga yore &1 fmres Fregor

Diagrammatic representation of the mature embryosac
27. FR.TA.U. Bl WG BT qUi HIT TAT 3R, 0.0, BT A& g1 |

Describe the structure of R.N.A. and give the importance of R.N.A.
3dl / OR
(%) RIS BT B v fPivan fikau|

Write the salient features of Genetic Code.
(@) sifd-amE & MHhics aRuER 3 THEd |
Elaborate the natural selection theory of Darwinism.

28. nﬁﬁmmﬁﬁ%ﬁaﬁﬁﬁ?wﬁmﬁa?waﬁmﬁmavhaﬁml

What is malaria-parasite. Describe its different stages of life cycle in human.
3Rdl / OR
e w wfan Ruoh fiRe -

Write short notes on the following -
(B) IR

Cancer

(@) Herefhy

Metastasis
(1) AN
Morphine

%k %k %k *k %k
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